
D118 BCOMD201

B.COM. SECOND YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. H$mbMH«$ H$mo ñnîQ> H$aVo hþE Hw$bH$a ì`dñWm na àH$me S>mb|Ÿ&

Throw light on the circle (cycle) and Management of Kulkara.

à. 2. {XJå~a Am¡a ídoVmå~a gåàXm`m| _| _m¡{bH$ ôX {bIVo hþE ídoVmå~a Am¡a

{XJå~a gåàXm` H$s _w»` emImAm| H$m C„oI H$s{OEŸ&

Write the basic differences between Digambar and Swetambar

sects and explain the main branches of Swetambar and Digambar

sects.

à. 3. ^JdmZ _hmdra Ho$ OrdZ Am¡a CZH$s gmYZm Ho$ ~mao _| {bI|Ÿ&

Write about the life and Penances (Austerities) of Lord Mahavira.

à. 4. AmJ_ H$mo n[a^m{fV H$aVo hþE AmJ_ dmMZmAm| na àH$me S>mb|Ÿ&

Defining the meaning of Aagama throw light on the canonical

assembly.

(i) H¥$.n¥.C./P.T.O.

à. 5. nd© {H$go H$hVo h¢? O¡Z Y_© Ho$ à_wI ndm] H$mo {dñVma go {bI|Ÿ&

What is festival? Explain the main festivals of Jainism.

à. 6. O¡Z VrW©ñWbm| H$m dU©Z H$a|Ÿ&

Explain the Jain Holy places (Pilgrims).

à. 7. "àojm" {H$go H$hVo h¢? àojmÜ`mZ H$s Cn`mo{JVm H$mo {dñVma go {b{IEŸ&

What is 'Preksha'? Explain the benefits of Preksha Meditation

(Dhyan).

à. 8. àojmÜ`mZ H$s Cng§nXm H$m {ddoMZ H$a|Ÿ&

Explain the Pre-requisites of Preksha Meditation (Dhyan).

à. 9. ñdmñÏ`-à~ÝYZ na EH$ boI {bI|Ÿ&

Write an essay on Health-Management.

à. 10. VZmd {H$go H$hVo h¢? VZmd Ho$ H$maUmo§ H$m {ddoMZ H$aVo hþE VZmd-à~ÝYZ

H$s à{H«$`m na àH$me S>mb|Ÿ&

Describe "Stress". Explain the causes of stress and describe the

process of Stress-Management.

ttt

(ii)



D119 BCOMD202

B.COM. SECOND YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -II : PRINCIPLES OF BUSINESS MANAGEMENT

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. à~ÝY Š`m h¡? à~ÝY Ho$ {H«$`mË_H$ joÌm| H$m g§jon _| dU©Z H$s{OEŸ&
What  is Management? Explain the functional area of management.

AWdm/OR

à~ÝY à{H«$`m go gpå~ÝYV _w»` H$m`m] d ghm`H$ H$m`m] H$m {ddoMZ H$s{OEŸ&
Describe the main functions and subsidary function of

management process.

à. 2. CÔoí`m| Ûmam à~ÝY H$mo n[a^m{fV H$s{OEŸ& CÔoí`m| Ûmam à~ÝY H$s à{H«$`m H$mo

g§jon _| {ddoMZ H$s{OEŸ&
Define M.B.O.. Explain the process of M.B.O..

AWdm/OR

g§JR>Z g§aMZm Ho$ {d{^Þ àmê$nm| H$m g§jon _| dU©Z H$a|Ÿ&
Explain the forms of organization structure.

(i) H¥$.n¥.C./P.T.O.(ii)



à. 3. _¡H$J«oJa H$s EŠg VWm dmB© {dMmaYmam H$s {ddoMZm H$s{OEŸ&

Explain the Mcgregor's theory of X and Y.

AWdm/OR

Q>oZo~m°_ VWm e{_Q> H$s ZoV¥Ëd {dMmaYmam g_PmBEŸ?
Describe the Tannenbaum and Suhmidits leadership theory.

à. 4. n[adV©Z Ho$ à{VamoY Ho$ H$maU ~VmBEŸ&
 Write the causes of resistance to change.

AWdm/OR

VZmd Š`m h¡? VZmd Ho$ àH$ma ~VmBE VWm VZmd_w{º$ Ho$ Cnm` ~VmBEŸ&
What is stress? Write the types of stress and how copying with

stress.

à. 5. {Q>ßnUr {b{I ò -

 Write notes on  :

(A) g_` à~ÝYZ

Time Management 5

(~) ZoV¥Ëd e¡{b`m§

Style of Leadership 4

(g) A{YH$mam| H$m àË`m`moOZ

Delegation of Authority 5

AWdm/OR

{Q>ßnUr {b{I ò

Write notes on  :

(A) {dHo$ÝÐrH$aU

Decentralization 4

(~) gr{_V {ddoH$erbVm

Bounded Rationality 5

(g) A{YH$mam| H$m àË`m`moOZ

Delegation of Authority. 5

ttt

(iii)(ii)



D120 BCOMD203

B.COM. SECOND YEAR EXAMINATION, 2013
(Correspondence Course)

PAPER -III : CORPORATE ACCOUNTING

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. E~rgr {b{_Q>oS> H$s 40 bmI é. H$s A{YH¥$V ny±Or, 10 é. dmbo 400000
g_Vm A§em| _| {d^º$ Wr, {OZ_| go 300000 A§e OZVm _| A{^XmZ Ho$ {bE
{ZJ©{_V {H$ ò J òŸ& {ZJ©_Z H$s eVm] Ho$ AZwgma 3 é. à{V A§e AmdoXZ na, 2.5
é. à{V A§e Amd§Q>Z na 2.5 én ò à{V A§e Amd§Q>Z na, 2.5 é. à{V A§e àW_
_m±J na Am¡a eof am{e {ÛVr` _m±J na Xò  WrŸ& {ZåZ{b{IV Ho$ A{V[aº$ g^r Xò
YZam{e`m± g_` na àmá hmo JB©:

X {OgHo$ nmg 600 A§e Wo, Am~§Q>Z, àW_ _m±J d {ÛVr` _m±J am{e ~H$m`m ahrŸ&

Y {OgHo$ nmg 400 A§e Wo, àW_ Ed§ {ÛVr` _m±J am{e ~H$m`m ahrŸ&

Z {OgHo$ nmg 200 A§e Wo, {ÛVr` _m±J am{e ~H$m`m ahrŸ&

g§MmbH$m| Zo Cn ẁ©º$ A§em| H$m haU H$a CÝh| A H$mo Bg àH$ma go nw{ZZ©J©{_©V {H$ ò:

X Ho$ A§e 9 é. à{V A§e, Y Ho$ A§e 7 é. à{V A§e, VWm Z Ho$ A§e 5 é. à{V
A§eŸ&

Cn ẁ©º$ ì`dhmam| H$mo XO© H$aZo Ho$ {bE Amdí`H$ OZ©b à{dpîQ>`m± `h _mZVo hþE
H$s{OE {H$ A Zo gånyU© am{e H$m ^wJVmZ H$a {X`m h¡Ÿ&

ABC Ltd. had an authorised capital of Rs. 40 lakhs divided into 4,00,000

(i) H¥$.n¥.C./P.T.O.

à. 6. "H«$` à{V\$b" go Amn Š`m g_PVo h¢? `h H¡$go {ZYm©[aV {H$`m OmVm h¡? H«o$Vm
H$ånZr H$s nwñVH$m| _| ì`dgm` H«$` H$aZo Ed§ H«$` à{V\$b Ho$ ^wJVmZ H$aZo Ho$
{bE Š`m OZ©b à{dpîQ>`m§ H$s OmVr h¡?

What do you understand by 'Purchase Consideration'? How is it

ascertained? What journal entries are passed in the books of

purchasing company for the purchase of business and payment of

purchase consideration?

à. 7. A§em| Ho$ Am§V[aH$ _yë` go Amn Š`m g_PVo hmo? BgH$m {ZYm©aU H¡$go {H$`m OmVm
h¡?

What do you understand by intrinsic value of shares? How is it

determined?

à. 8. EH$ H$ånZr Ûmam bm^m§e H$s KmofUm Ed§ CgHo$ ŵJVmZ gå~ÝYr H$mZyZ Ed§ à{H«$`m
H$m g§jon _| dU©Z H$s{OEŸ&

State briefly the law and procedure regarding declaration and payment

of dividend by a company.

à. 9. H$ånZr Ho$ g_mnZ Ho$ g_` pñW{V {ddaU Ed§ Ý`yZVm ImVm {H$g àH$ma V¡`ma
{H$ ò OmVo h¢?

How are statement of affairs and deficiency account prepared at the

time of liquidation of a company?

ttt

(iv)



shares of Rs. 10 each out of which 3,00,000 shares were issued to the

public for subscription. The term of issue were: Rs. 3 per share was

payable on application, Rs. 2.50 per share on allotment, Rs. 2.5 per

share on first call and the balance on second and final call. All the

amount due were received except the following:

From X holding 600 shares on which allotment, first call and second

calls over in arrear.

From Y holding 400 shares on which first and second calls were in

arrear.

From Z holding 200 shares on which second call were in arrear.

The directors forfeited the above shares andreissued them to A as: X's

shares were reissued at Rs. 9 per share, those of Y at Rs. 7 per share

and of Z at Rs. 5 per share. Give journal entries necessary to record the

above transctions assuming that A had paid the whole amount due

from him.

à. 2. EH$ H$ånZr H$s àm{W©V ny±Or 25,00,000 é. h¡Ÿ& Omo {H$ 100 é. dmbo nyU©XÎm
25,000 g_Vm A§em| _| {d^m{OV h¡Ÿ& H$ånZr Zo g_Vm A§eYm[a`m| H$mo 20 é.
à{V A§e bm¡Q>mZo H$m {ZíM` {H$`m h¡Ÿ& H$ånZr H$s nwñVH$m| _| Amdí`H$ OZ©b
à{dpîQ>`m§ H$s{OE `{X:
A company has a subscribed capital of Rs. 2500000 divided into 25000

equity shares of Rs. 100 each fully paid up. The company decided to

repay Rs. 20 per share to equity shareholders. Give necessary journals

entries in the books of the company if:

(A) A§em| H$mo 80 é. à{V A§e nyU©XÎm ~Zm {X`m OmVm h¡ Am¡a
Shares are made of Rs. 80 each fully paid, and

(~) A§em| H$m A§{H$V _yë` An[ad{V©V ahVm h¡Ÿ&
Face value of shares is unchanged.

à. 3. 31 _mM© H$mo am°`b ~¢H$ {b{_Q>oS> Ho$ VbnQ> go {ZåZ{b{IV A§e {b`o J`o h¢:
The following is an extract from the trial balance of Royal Bank Ltd. as

at 31st March, 2012:

Dr. Cr.

~Å>mH¥$V {~b/Bills Discounted 3128000 -

~Å>mH¥$V {~bm| na Ny>Q>/Rebate on Bills Discount - 70160

(as on 01.04.2011)

~Å>m àmá/Discounts Received - 377080

~Å>mH¥$V {~bm| H$m {ddaU {ZåZ àH$ma h¡
An analysis of the bills discounted shows as follows:

Amount 280000 872000 564000 812000 600000

Due Date 2012 5 June 12 June 25 June 5 July 9 July

31 _mM© 2012 H$mo g_má hmoZo dmbo df© Ho$ {bE bm^-hm{Z ImVo _| ~Å>o H$s
{H$VZr am{e O_m H$s Om òJr VWm CgHo$ {bE Amdí`H$ OZ©b à{dpîQ>`m§ Xr{OEŸ&
~Å>o H$s Xa 10% dm{f©H$ br Om gH$Vr h¡Ÿ&

How much amount of discount to be credited to profit and loss

account for the year ending on 31st March 2012 and pass appropriate

journal entries for the same. The rate of discount may be taken at 10%

per annum.

à. 4. F$U nÌ H$m AW© Ed§ {d{^ÝZ àH$mam| H$mo g_PmB`oŸ&
Explain the meaning of debenture and its various types.

à. 5. à~ÝYH$s` nm[al{_H$ go Amn Š`m g_PVo h¢? BZgo gå~pÝYV H$ånZr
A{Y{Z`_ 1956 Ho$ àmdYmZm| H$m dU©Z H$s{OEŸ&
What do you mean by managerial remuneration? Describe the related

provisions of Company  Act, 1956.

(iii) H¥$.n¥.C./P.T.O.(ii)



D121 BCOMD204

B.COM. SECOND YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -IV : COMPANY LAW AND AUDITING

TIME : 3.00 HRS. MM : 70

{ZX}e … g^r àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt all questions. Each question carries equal marks.

à. 1. H$ånZr H$mo n[a^m{fV H$s{OE Am¡a BgH$s {deofVmAm| H$m dU©Z H$s{OEŸ&
Define company and describe its essential characteristics.

AWdm/OR

AÝV{Z©̀ _m| go Amn Š`m g_PVo h¢? CZH$s {df` gm_J«r H$m dU©Z H$s{OEŸ&

CÝh| {H$g àH$ma n[ad{V©V {H$`m Om gH$Vm h¡?
What do you understand by Articles of Association? Describe their

contents. How they can be altered?

à. 2. EH$ H$ånZr _| g§MmbH$m| H$s pñW{V H$s {ddoMZm H$s{OEŸ&
Discuss the position of directors in a company.

AWdm/OR

{H$Z n[apñW{V`m| _| EH$ H$ånZr H$m EopÀN>H$ g_mnZ {H$`m Om gH$Vm h¡?

gXñ`m| H$m EopÀN>H$ g_mnZ VWm boZXmam| Ho$ EopÀN>H$ _| AÝVa ñnîQ> H$s{OEŸ&
Under what circumstances a company can be voluntarily winding

up? Distinghish between members voluntary winding up and

creditors voluntary winding up.

(i) H¥$.n¥.C./P.T.O.

à. 3. Am§V[aH$ {ZarjU H$o Š`m CÔoí` h¢? Š`m Am§V[aH$ {ZarjU/J~Z H$mo Ag§̂ d

H$a XoVm h¡?
What are the objects of internal check? Does internal check render

frauds impossible?

AWdm/OR

Am§V[aH$ A§Ho$jU {H$go H$hVo h¡§? BgHo$ CÔoí` Ed§ Amdí`H$VmE§ ~VmB òŸ&
What is internal audit? Give its objects and requirements.

à. 4. Ho$ÝÐr` gaH$ma Ûmam A§Ho$jH$ H$s {Z ẁ{º$ {H$Z n[apñW{V`m| _| H$s OmVr h¡?
In what situations auditor is appointed by central government?

AWdm/OR

A§Ho$jH$m| H$s {Z ẁ{º$ {ZñH$mgZ Ed§ nm[al{_H$ Ho$ gå~ÝY _| H$ånZr A{Y{Z`_

Ho$ àmdYmZm| H$m g§{já dU©Z H$s{OEŸ&
Describe briefly the provisions of the company act with regard to

the appointment removal and remuneration of an auditor.

à. 5. EH$ emIm dmbr H$ånZr Ho$ {bE H$mën{ZH$ ñdÀN> [anmoQ>© Xr{OEŸ&
Give an imaginary clean report for a company having a brack.

AWdm/OR

(i) hñVmÝVaU g§boI go Š`m g_PVo hmo? /
What is meant by transfer deed?

(ii) A§em| H$m nmaofU {H$go H$hVo h¢? /
What transmission of shares?

ttt

(ii)



D122 BCOMD205

B.COM. SECOND YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -V : INCOME TAX LAW AND PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … H$moB© nm§M àíZ hb H$s{OEŸ& g^r àíZm| Ho$ g_mZ A§H$ h¡Ÿ&

à. 1. {ZåZ na {Q>ßn{U`m± [b{I ò/Write notes on the following -

(A) J«oÀ ẁQ>r / Gratuity

(~) _H$mZ {H$am`m ^Îmm / House Rent Allowance

(g) n|eZ H$s EH$ _wíV am{e / Commutation of Pension

(X) AdH$me H$m ZH$XrH$aU / Encashment of leave salaries

à. 2. _H$mZ gån{V Ho$ dm[f©H$ _yë` go Š`m VmËn ©̀ h¡? EH$ {H$am ò na CR>m ò J ò _H$mZ H$s
"_H$mZ gån{Îm go Am`' H$s JUZm Amn H¡$go H$a|JoŸ&
What is meant by annual value of house propety ? How would you
compute the 'income from house property' of a let out house ?

à. 3. (A) amOñWmZ ñQ>oQ> bm°Q>ar H$m àW_ nwañH$ma 5 AŠQy>~a, 2011 H$mo 8,40,000
én ò àmßV hþAmŸ& H$a `mo½` am{e ~VmB òŸ&/ Amount received on 5th

October, 2011 as first prize from Rajasthan State Lottery Rs.
8,40,000. Calculate taxable amount.

(~) lr A{^foH$ H$mo 4,000 én ò nm[adm[aH$ n|eZ àmßV hþB©Ÿ& H$a {ZYm©aU df©
2012-13 _| gH$b Hw$b Am` _| em{_b H$s OmZo dmbr am{e kmV H$s{O òŸ&/
Shri Abhishek recevied family pension @ Rs. 4,000 per month.
Calculate the amount which would be included in gross total
income for the assessment year 2012-13.

à. 4. bm°Q>ar dJ© nhobr Kw‹S>Xm¡‹S> Ed§ AÝ` AmH$pñ_H$ Am`m| Ho$ gå~ÝY _| Am`H$a A{Y{Z`_ Ho$ àmdYmZm| H$s
{ddoMZm H$s{OEŸ& /Discuss the provisions of Income Tax Act relating to Lottery,

Crossword puzzles, Horse race and other Casual incomes.

à. 5. (A) A{d^mOZr` gån{Îm go Amn Š`m g_PVo h¢Ÿ&/What do you mean by

'Impartible estate' ?

(~) {hÝXy A{d^m{OV n[adma Ho$ nyU© Ed§ Am§{eH$ {d^mOZ go Amn Š`m g_PVo
h¢?/What do you mean by a complete partition and a partial

partition of an H.U.F. ?

(i) H¥$.n¥.C./P.T.O.(iv)

Cn`moJ {ZOr H$m`m] Ho$ {bE ^r {H$`m OmVm h¡ VWm S´>mBda Ho$ doVZ g{hV g^r
ì`` {Z`moº$m Ûmam dhZ {H$ ò OmVo h¢Ÿ& JV df© _| {Z`moº$m Ho$ ì`` 60,000
én`o Ho$ Wo VWm {Z`moº$m Zo Bg gw{dYm Ho$ {b`o H$_©Mmar go 1,000 én`o
à{V_mh dgyb H$a {b`m h¡Ÿ&/The employer has provided the facility of

a 1.8 litres (c.c.) car. The car is used for piivate purposes also and all
the expenses including the driver's salary are borne by the
employer. The expenses of employer during the previous year
amounted of Rs. 60,000 and the employer has recovered Rs. 1,000

per month  from the employee for this facility.

(X) CZH$m EH$ nwÌ Ed§ EH$ ~hZ {Z`moº$m Ho$ Ûmam Mbm ò Om aho ñHy$b _| AÜ``Z H$a aho h¢Ÿ& {Z`moº$m
Ho$ Ûmam à{V N>mÌ 1,000 én ò à{V_mh ì`` {H$`m OmVm h¡Ÿ& ̀ {X BZH$mo Bgr àH$ma H$s AÝ`
ñHy$b _| grH$a _| n‹T>m`m OmVm Vmo CÝh| Ho$db 800 én`o à{V N>mÌ à{V_mh hr ì`` H$aZo
n‹S>VoŸ&/ His one son and one sister are studying in a school run by the

employer. The monthly expenses incurred by the employer per
student is Rs. 1,000 but had they been sent for education to similar
school in Sikar, a sum of Rs. 800 per student per month would have

been payable during the year.

(`) CÝh| AmB©.AmB©.E_. Ah_Xm~mX _| 15 {XZ Ho$ {bE EH$ à{ejU hoVw ôOm J`m
VWm 500 én ò H$s \$sg {Z`moŠVm Ho$ Ûmam MwH$mB© JB©Ÿ&/He was sent to

attend a training course at IIM, Ahemdabad for 15 days, the fee of

Rs. 500 was paid by the employer.

(a) do EH$ _mh H$s Nw>Q²>Q>r na Xm{O©qbJ J ò Ohm± do {Z`moŠVm Ho$ Ûmam aIo J ò AdH$me-J¥h _| R>haoŸ&
CZHo$ R>haZo d ImZo Ho$ 10,000 én ò Ho$ ì`` {Z`moŠVm Ûmam MwH$m ò J òŸ& ̀ h gw{dYm g^r
H$_©Mm[a`m| H$mo g_mZ én go Zht Xr OmVr h¡Ÿ&/He proceeded on one month's

leave to Darjeeling where he stayed in the Holidays home
maintained by the employer. The expenses of his boarding and
lodging amounting to Rs. 10,000 were borne by the employer. This

facility is not provided to all employees uniformally.

(b) {Z`moŠVm Ûmam H$_©Mmar H$mo àXmZ H$s JB© J¡a-_m¡{ÐH$ gw{dYmAm| Ho$ H$a H$r am{e
6,400 én ò H$m {Z`moŠVm Zo ñdoÀN>m go ŵJVmZ {H$`mŸ&/A sum of Rs. 6,400

was paid by the employer voluntarily by way of tax on non-monetary

facilities given to employee.

H$a-{ZYm©aU df© 2012-2013 Ho$ {bE CZH$s doVZ erf©H$ H$s H$a `mo½` Am` H$r
JUZm H$s{OEŸ&/Compute his taxable income under the head 'Salaries' for

the assessment year 2012-13. ttt



à. 6. {H$gr \$_© Ho$ gmPoXmam| H$mo Xò  ã`mO VWm nm[al{_H$ H$s H$Q>m¡Vr Ho$ gå~ÝY _| Am`H$a
A{Y{Z`_ H$s ì`dñWmAm| H$mo {dñVma go g_PmB òŸ&
Explain in detail the provisions of the Income Tax Act in respect of
deduction for interest and remuneration to the partners of a firm.

à. 7. "O¡go H$_mAmo d¡go H$a MwH$mAmo' `moOZm go Amn Š`m g_PVo h¢? Bg gå~ÝY _|
Am`H$a A{Y{Z`_ Ho$ _hËdnyU© àmdYmZm| H$mo ñnîQ> H$s{OEŸ&
What do you understand by 'Pay as you earn scheme"? State clearly the

important provisions of Income-tax Act regarding it.

à. 8. {ZåZ{b{IV na g§{jßV {Q>ßnUr {b{IE/Write short notes on the following :

(i)   gdm}Îm_ {ZU©̀  H$a-{ZYm©aU/Best Judgement Assessment

(ii)  nwZ… H$a-{ZYm©aU / Re-assessment

(iii)  ŷb gwYma /Recification of Mistake

(ii)  ñd §̀ H$a {ZYm©aU / Self assessment

à. 9. lr XrnMÝX Ho$ nmg 1-4-2011 H$mo {ZåZ{b{IV ny±Or gån{Îm`m± Wt -
(i)  1,00,000 én ò H$s bmJV H$m ahZo H$m _H$mZ;
(ii)  50,000 én ò H$s bmJV Ho$ Am ŷfU;
(iii) 1,50,000 én ò H$s bmJV Ho$ g_Vm A§eŸ&
(iv) 10,000 én ò bmJV H$s ̀ y.Q>r.AmB©. H$s ̀ y{ZQ> ̀ moOZm, 1964 H$s ̀ y{ZQ²>gŸ&
lr XrnMÝX Zo ahZo Ho$ _H$mZ H$mo 16,50,000 én`o _| 15 OyZ, 2011 H$mo ~oM {X`m VWm 20,000 én`o
hñVmÝVaU Ho$ gå~ÝY _| ì`` hþEŸ& ̀ h _H$mZ CÝhm|Zo 1972 _| ~Zdm`m Wm VWm 1-4-1981 H$mo BgH$m C{MV
~mOma _yë` 2,80,000 én ò WmŸ&
CÝhm|Zo g^r Am ŷfU 18 AJñV, 2011 H$mo 1,00,000 én ò _| ~oM {X ò VWm 5,000 én ò Bg gå~ÝY _| ì``
hþEŸ& ̀ o Am ŷfU 6 OZdar, 2009 H$mo H«$` {H$ ò J ò WoŸ& CÝhm|Zo 20 Zdå~a, 2011 H$mo 60,000 én ò Ho$ Z ò
Am ŷfU H«$` {H$ ò VWm 40,000 én ò Ho$ A§e H«$` {H$ òŸ&
ỳ.Q>r.AmB©. Ho$ ̀ y{ZQ²>g JV df© 1999-2000 _| H«$` H$s JB© Wr VWm JV df© _| 18,000 én ò _| ~oM Xr JB©Ÿ&

CÝhm|Zo AnZo g_ñV nwamZo A§e 15 OwbmB©, 2011 H$mo 4,60,000 én ò _| ~oM {X ò VWm 10,000 én ò Bg gå~ÝY
_| ì`` hþEŸ& CÝhm|Zo 10 OZdar, 2012 H$mo ahZo H$m _H$mZ 2,00,000 én ò _| IarXm VWm 50,000 én ò ̂ maV
Ho$ amîQ́>r` àm{YH$aU Ho$ 3 df© ~mX emoYZr` ~m°ÊS>g _| {d{Z`moJ {H$ òŸ& ̀ o g^r A§e CÝhm|Zo OyZ, 1999 _| H«$` {H$ ò WoŸ&
H$a {ZYm©aU df© 2012-2013 Ho$ {bE lr XrnMÝX H$s ny±Or bm^ erf©H$ H$s H$a-`mo½` Am` H$s JUZm H$r{OEŸ& df©
1988-89 Ed§ 1999-2000 Ho$ bmJV ñ\$s{V gyMH$m§H$ H«$_e… 351 Ed§ 389 h¢Ÿ&
Mr. Deepchand had the following Capital assets on 1-4-2011: Rs.

(i) Residential house the cost being 1,00,000

(ii) Jewellary the cost being 50,000

(iii) Equity Shares the cost being 1,50,000

(iv) Units of Unit Scheme 1984 of U.T.I. 10,000

Mr. Deepchand sold the residential house on 15-06-2011 for Rs. 16,50,000
and the cost of transfer was Rs. 20,000. This house was built by him in 1972
and the fair market value of it on 1-4-1981 was Rs. 2,80,000. He sold whole
of the jewellary on 18-8-2011 for 1,00,000 and incurred an expenditure of
Rs. 5,000 in connection with the sale. These ornaments were purchased
on 6-1-2009. On 20-11-2011 he purchased new ornaments for Rs. 60,000
and shares for Rs. 40,000.

Unit of U.T.I. were purchased during the previous year, 1999-2000 and
were sold during the previous year for Rs. 18,000.

He sold all the old shares on 15-07-2011 for Rs. 4,60,000 and expenses of
transfer was Rs. 10,000. He purchased a residential house on 10-01-2012
for Rs. 2,00,000 and invested Rs. 50,000 in the bonds of National Highways
Authority of India redeemable after 3 years. All these shares were
purchased in June 1999.

Compute the taxable income from capital gain of Shri Deepchand for the
assessment year 2012-2013. The cost inflation index for the year 1998-99
and 1999-2000 are 351 and 389 respectively.

à. 10. lr A^` {dZmoX h¡ÊS>by_, grH$a Ho$ à~ÝYH$ h¢>Ÿ& do à{V_mh 12,500 én`o _yb
doVZ, 200 én ò _Zmoa§OZ ^Îmm 800 én ò _h§JmB© ^Îmm àmßV H$aVo h¢Ÿ&
Shri Abhay is the manager of the Vinod Handlooms, Sikar. He receives

every month Rs. 12,500 as basic pay, Rs. 200 as entertainment allowance
and Rs. 800 as dearness allowance.

(A) CZH$m ñd §̀ H$m _H$mZ h¡ naÝVw {Z`moŠVm Zo CZH$mo {ZåZ gw{dYm |̀ àXmZ H$s h¢-
/ He owns his house, but the employer has provided him the

following amenities.

(i) EH$ _mbr, EH$ \$am©e Ed§ EH$ Mm¡H$sXma {OZH$mo àË òH$ H$mo 150 én ò
à{V_mh {X`m OmVm h¡Ÿ& / A gardener, a sweeper and a watchman

who are each paid Rs. 150 per month.

(ii) ao\«$sOaoQ>a Ho$ _wâV Cn`moJ H$s gw{dYm {OgH$s bmJV 5,000 én ò h¡Ÿ&
/Free use of the refrigerator costing Rs. 5000.

(~) {Z`moŠVm Zo CZHo$ {ZåZ{b{IV Xm{`Ëdm| H$m ŵJVmZ {H$`m h¡-/The following

obligations of him were paid by the employer:

(i) J¡g, {~Obr Ed§ nmZr Ho$ {~bm| H$m ^wJVmZ 2,000 én`oŸ& /Gas,

electricity and water bills amounting to Rs. 2,000.

(ii) amoQ>ar Šb~ H$m dm{f©H$ gXñ`Vm ewëH$ 1,200 én`oŸ& / Annual

membership fee of Rotary Club Rs. 1,200.

(g) {Z`moŠVm Zo 1.8 brQ>a (gr.gr.) H$s H$ma H$r gw{dYm àXmZ H$s h¡Ÿ& H$ma H$m

(iii) H¥$.n¥.C./P.T.O.(ii)
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Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. ì`mdgm{`H$ dmVmdaU go Amn Š`m g_PVo h¢? Bg_| gwYma Ho$ {d{^Þ Cnm`m|

H$m CëboI H$s{OEŸ&
What do you mean by Business Environment? Explain the various

refarming factors for Business Environment.

à. 2. ^maV _| ŵJVmZ g§VwbZ Agmå` Š`m| h¡? Bg_| gwYma Ho$ {d{^Þ Cnm`m| H$m

CëboI H$s{O òŸ&
Why balance of payment is unbalanced in India? How it can be

reform?

à. 3. ^maV _| Jar~r Ho$ H$maUm| H$s ì`m»`m H$s{OEŸ& Bgo Xya H$aZo Ho$ Cnm`

~VmB`oŸ&
Explain the causes and solutions of poverty in India.

(i) H¥$.n¥.C./P.T.O.(ii)

à. 4. _wÐmñ\$s{V Ho$ Š`m à^md hmoVo h¢? _wÐmñ\$s{V H$mo {H$g àH$ma {Z §̀{ÌV {H$`m

Om gH$Vm h¡?
What are the effects of inflation? How can inflation be controlled?

à. 5. ^maV H$s _m¡{ÐH$ Zr{V Ho$ à_wI CÔoí`m| Am¡a CnH$aUm| H$s {ddMoZm H$s{OEŸ&
Describe the objectives and apparatus of Indian Monetary Policy.

à. 6. ^maV _| {dXoer ny±Or {Zdoe Ho$ à_wI òmoVm| H$s {ddoMZm H$s{O òŸ&
Discuss the major sources of foreign capital investment in India.

à. 7. {díd ì`mnma g§JR>Z Ho$ CÔoí` Ed§ _w»` H$m`m] H$m dU©Z H$s{OEŸ&
Describe the objectives and works of World Trade Organization

(WTO).

à. 8. ^maV _| Am{W©H$ {dH$mg _| {díd ~¢H$ H$s ŷ{_H$m H$m dU©Z H$s{OEŸ&
Discuss the role of world bank in economic development of India.

à. 9. AÝVam©îQ´>r` _wÐmH$mof Ho$ CÔoí`m| Ed§ g\$bVm H$m {ddaU Xr{OEŸ&
Elaborate the objectives and advantage of International Monetary

Fund (IMF).

à. 10. Am{W©H$ {df_Vm Ho$ H$maU VWm H$_ H$aZo Ho$ Cnm`m| na àH$me S>m{b òŸ&
Discuss the causes and cure of economic disparity.

ttt
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Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm§M àíZm| Ho$ CÎma Xr{OEŸ& àË òH$ àíZ Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. n[a`moOZm go Amn Š`m g_PVo h¢? n[a`moOZm H$s Amdí`H$ {deofVmE§

g_PmB`oŸ&

What do you mean by project management ? Explain the essential

characteristics of project management.

à. 2. n[a`moOZm OrdZ MH«$ H$s {d{^ÝZ AdñWmAm| H$m dU©Z H$s{OEŸ&

Explain the different stages of project lyfe cycle.

à. 3. n[a`moOZm g§̂ mì`Vm {díbofU Ed§ à{VdoXZ go Amn Š`m g_PVo h¢? n[a`moOZm

Ho$ Ag\$b hmoZo Ho$ Š`m H$maU hmo gH$Vo h¢? g_PmB òŸ&

What do you mean by project feasibility analysis and report ? What

are the causes of project failure ? Explain.

à. 4. n[a`moOZm ñdrH¥${V H$s gaH$ma H$s Zr{V Ed§ ì`dñWm H$mo g_PmB òŸ&

Explain the government policy and systems for project sanction.

(i) H¥$.n¥.C./P.T.O.

à. 5. gm_m{OH$ bmJV-bm^ {díbofU go Amn Š`m g_PVo h¢? BgHo$ CÔoí`

~VbmB`oŸ&

What do you mean by social cost benefit analysis ? Explain its

objectives.

à. 6. N>m`m _yë`m| H$s JUZm H$s {d{^ÝZ {d{Y`m| H$mo ~VmB òŸ&

Explain the different methods of calculation of shadow pricing.

à. 7. n[a`moOZm g§JR>Z g§aMZm H$mo {dñVma go g_PmB òŸ&

Explain in detail the project organisation structure.

à. 8. EH$ n[a`moOZm à~ÝYH$ H$m M`Z Ed§ à{ejU na EH$ boI {b{I òŸ&

Write an essay on selection and training of a project manager.

à. 9. n[a`moOZm à~ÝYH$ H$mo n[a^m{fV H$s{OEŸ& n[a`moOZm à~ÝYH$ H$s `mo½`VmE§

Ed§ JwU ~VbmB òŸ&

Define the project manager. Explain the qualities and skills of a

project manager.

à. 10. n[a`moOZm {dbå~ Ho$ H$maUm| H$mo g_PmB òŸ Ed§ BÝh| Xya H$aZo hoVw gwPmd

Xr{O`oŸ&

Explain the causes of delay in project give your suggestions solve

them.

ttt
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